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Warm Up Grade 8

Jsdgnc.
1) Use rules to find the quotient (-18) + (-9) then write 2 multiplication
statements using the statement. & 2)
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Dividing Using Tiles to model
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1) Multiply (-93) (-82)

AN ocd -

2) Devon withdrew $6 each week for a @g’ ithdraw of
G"‘ $48 Use integers to find the number of weeks that he did
thls this for.

diven Yotd divide

(-48) + (-Q) = (R)
"Deven withdrew ¢ Gor

R weeks.
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Class / Home work

Seet-\H
Page 80 - 81 #10 () (=) =*
fo o\ ) QR
?\\,_\zs #11, #15?\$ 'G-) (
0 (unz Gy /#12 #16 GQHQERS
= ¢3) #13

Page 99 #1(a,b,c, d, e,f,g,h USE RULES)

Quiz Friday (Femessow)

*on multiplication modelling with tiles & rules & Box Method

*Division Rules
if you need more pg 166 # 8 to #15
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